LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT (WITHOUT REGROUPING)

WORKSHEET - 1

535 916 264 372

x7 x 2 x5 x 8

35 12 20 16

+ 210 + 20 + 300 + 560
+ 3500 + 1800 + 1000 + 2400
= 3745 = 1832 = 1320 = 2976
662 127 640 328

x 4 x 8 x 3 x 9

8 56 0 72

+ 240 + 160 + 120 + 180
+ 2400 + 800 + 1800 + 2700
= 2648 = 1016 = 1920 = 2952
246 175 344 890

x 9 x5 x 7 x 2

54 25 28 0

+ 360 + 350 + 280 + 180
+ 1800 + 500 + 2100 + 1600
= 2214 = 875 = 2408 = 1780
119 703 620 745

x5 x4 x4 x 2

45 12 0 10

+ 50 + 0 + 80 + 80
+ 500 + 2800 + 2400 + 1400
= 595 = 2812 = 2480 = 1490
623 252 824 470

x 7 x 4 x 9 x 6

21 8 36 0

+ 140 + 200 + 180 + 420
+ 4200 + 800 + 7200 + 2400
= 4361 = 1008 = 7416 = 2820
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